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Part I: Graphing Sine and Cosine

Graph the foliowing functions over two periods, one in the positive direction and one in the negative
directions. Label the axes appropriately.

1, ym”'u,?_cos (x) Ampﬁtude: 8 - Midline: %:O

2. y = 5sin (x) Amplitude; o Midline: QSO

s

3. 5/1* ~3¢c0s (x) » Amplitude: 55 0 Midline: %:O




Amplitude: ‘ZQ

4, y = 0.5sin(x) —1

Midline: %:“l
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Part II: Equations of Circles Practice
Write the standard equation of the circie.
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Write the stundard equation of the cirele with the givea center and radins,

4. Center (0. 0, radius 9.
xt+y? =Bl

Graoh the equation.
7. xory=hd

A, Center (1, 3), rachus 4,

(x-D+(y-3*= o

f. Cener (=3, Ul radius 5.

(x+ 3‘)%3" =4S

8. AP+ IV =18




Part I1I: SOH CAH TOA Practice

Write the trig ratios below.

___opposite _ adiagent . o%osdfc
Sin= HB?PO‘\'GF\USC Cos hgpﬁenugt Ian—a . cen
Calculate missing sides and missing angles.
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Part IV: Angles of Elevation & Depression

Find all values to the nearest tenth.

1. A man flies a kite with a 100 foot strmg Thc angle of elevation of the
string is 52 %, How hlgh off the ground is the kite?

Sin(sa) = Tﬁ l
0 -18.9H
X = 100 Sin(s3) (x 18.8

2. From the top of a vertical cliff 40 m high, the angle of depression of an object that is levei wzth
the base of the ciiff is 34°. How far is the. object from the base of the cliff?

-mh(54')= 40

| - ‘i’ah ~an (34)

3. An airplafie Takes off 200 vards in front of a 60 foot building. At what angle of elevation must the
plane take off in order to avoid crashing into the building? Assume that the airplane flies in a
straight line and the angle of elevation remains constant until the airplane
flies over the building.

HINT: O+ = 20 yords
tan () = (O

x-‘l-ahoz?? \) | ' "4}

4. A 14 foot ladder is used to scale a 13 foot wall At tht an gle of elevation must the ladder be situated in

order to reach the top of the wall?
' sne=13. [6=18.9°

&= srn"‘(—*fi-@

5. A person stands at the window of a building so that his eyes are 12.6 m above the level ground. An object is
on the ground 58.5 m away from the base of the building, Compute the angie of depression of the person’s

line of sight to the object on the ground. + - lc; P
a

~ =
o = fon"\(12:2) o= 55

6. A ramp is needed to allow vehicles to climb a 2 foot wall, The angle of elevation in order for the vehicles to
safely go up must be 30 ° or less, and the longest ramp available is 5 feet

long. Can tlus ramp be used safely? P M 'h:lh(x) _&—
Nes ,angle of elevation
IS @5“9 whidhis x= fan- ')
less +than 30°. X =33.4°




Part V: LAW OF SINES PRACTICE |
When does a person soive a triangle using the LAW OF SINES?? When do they use the AMBIGUOUS

| ASE? When You are solving for missing sides or
an%esw hon -rig bt Sﬂ-lcmg ics.s You are H‘Mglﬁwm

&
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1. Soive for the unknown in each triangle. Round to the nearest tenth.
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2. Solve for all missing sides and angles in each triangle. Round to the nearest
tenth.




Part VI: LAW OF COSINES PRACTICE
When does a person solve a triangie using LAW OF COSINES???

1. Solve for the unknown in each "ta"iangie.' Round to the nearest hundredth. -

22

‘x:l‘iﬁ_l i |

17m

¢ le=10390°

35mm 7cm

55cm

2. Solve for all missing sides and angles in each triangle. Round to the nearest
hundredth, ** USE PROPER VARIABLES

A, AXYZ:

x=29m,y=15m, L7 =122°)

2:3908 ¥x= 3899° 24-19.00° ]

B. AGHI: g=13cmh= 80m1w156ni(§.6 = (p0° VZB.H— %m ZII 8?%07

C. AMNO: n;Blm,omZSm,.&Mz62{m:30.§0‘- AN 2@3.@32§Qx S4.1bj

Part VII: Area of Oblique Triangles Practice
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